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Warm Up Crade 7 unit 2: day 3

1) Represent each scenario with an intege
a) You earned $20 babysitting <+ 2O

b) You increased your mark by 17 points <+ |7 Po: ‘s

_ s
c)lamin (ﬂ)t $100 —=\0O

2) Put the following integers in order from smallest to largest

WK P HIMAE

3) The opposite integer to -4 is -\-';\
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Homework Solutions  f5r 7W & 7M

1. Mark each integer on a number line.
a) +2 b) -6 c)-3 d) +8

" — —— s ! — >
M43 20 0o HRAAMNSTHAHN

2. Use a positive or negative integer to represent each situation.
a) The water level rises 4 cm after a low tide.
b) The average temperature close to the South Pole is 50°C below 0°C.
c¢) You earned $19 since yesterday.
d) The time is 11 s before blast-off.
e) You walk down 7 stairs.
f) You ride up 6 floors on an elevator.
g) The golfer took 3 strokes fewer than par.

2a) +4 b) -50 c) +19 d) -11 e)-r f)+6 g) -3

4. Order the integers in each set from least to greatest.

a) +5, -3, +4 b) 0, +6, -6 c) +6, -6, +5, +3, -3
d) -8, +9, =10, +11, =12 e) 0, +2, -3, +4, -6 f) =30, +25, <12, =5, +7
a)-3, +4, +5 b) -6, 0 +6 c) -6, -3, +3, +5, +6

d)-12,-10, -8, +9, +11 & 6.-3.0,%2,+4 130,12, 5, +7, +25

5. Copy each statement. Use < or > to show which number in each pair is greatei
Use a number line if it helps.
a)+2<+8 b) 0 &-5 c) -7 <0
d) +250 >-251 e) =100 <-70 f) -361 <-360
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Homework Solutions for 7W & 7M

1) Put the following integers in order from smallest to largest.
a) 28,7,-9,0,-72,-15,-27, 11, 52
-72,-27,-15,-9, 0, +7, +11, +28, +52

1) 3,10,2,11,0
23,0, +2, +10, +11

2) Puta+or—infront of each number to represent the scenario.
a. Water boils: 100°C +100
b. Frozen oxygen: 218°C -218

c.  Normal body temp.: 37°C +37

d. Descend 3 stairs: 3 -3
e. Increaseby7: 7 +7
+3
3) Diver A is 2 m below sea level. +2
Diver B is 1 m below sea level. +
o
Diver Cis 3 m below sea level. B4 -
a) Draw a vertical number line to show the location of the divers. -3

b) Which diyer js farthest from the surface? Explai hink
) RS YRR T SSriata SeE RE 1S BeloW R%and B.

4) Use a number line to help answer the following:

Puta <, >or =in the box

a)6<9 b)l1>-3¢c)0< 7 d)-4>-6 e -2>5 f)-7 <0

5) a) List the integers between -9 and 4.
-8,-7,-6,-5,-4,-3,-2,-1,0,1, 2,3
a) List the negative integers that are greater than -9
-8,-7,-6, -5, -4,-3, -2, -1
b) List the positive integers less than 4
1,2,3
c) Does zero appear in either list in (a) or (b) why or why not?

No because zero is neither + or - (has no sign)

6) Which of the following is true or false? (Briefly explain your reasoning)
a. The greatest negative integer is -1 (True)
Negative Integers are negative whole numbers so -1 is next to zero thus it is the

gratest negative (closest to the positive number makes it the greatest negative)

b. Positive integers are less than negative integers. (False)
Think if I owe $5 it is less than having $2 in my pocket ( -5 <2)
Positive integers are GREATER than negative integers
c. Any negative integer is always less than 0. (True)
Owing nothing is better than owing any amount of money
-# <0
d. The greater the digit, the greater the value. (False)
-
2d|g|t—g Na3 Al_l__'_“_ digit
-17 -1e0° -Sva?
4 digit
The greater the digit of negative number the SMALLER the number

-5627 < 10

September 12, 2022
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Grade 7 Worksheet: Review Of Integers Continued
Solutions
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éq) The j(eo\.-_\-rsat ntﬂa&‘we Wndeger is 1.
J
A
h‘e‘sé&-s}t ''o -;:s.-\-?\s =
\es S Sfu-\-tr

Q ’Pos's\-tw Indcqer are \ess Yhen
Negabve . (CRlse

O True

d THC. f(&k" *)’\'Q dtOt"' '\4\‘{ (Cater
} 3 ﬁ.\.s&. depzm\s on -gkg velue .

—) 22 ™
Irei,




gr 7 u2 int day 3 model integer.notebook September 12, 2022

Quiz (Friday)
Similar to the warm up and worksheet

Integers

(# line, scenarios, <,>,=, model)
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Modeling Integers using Algebra Tiles

Algebra tiles will be used later in math, right now we will only use the -1 and the +1

Yellow
- 1

The tiles we use, yellow represents the positive and red represents the negative. Some

tiles may have different colors.
When drawing the tiles, we say shaded is positive and unshaded is negative. It does not

matter if you use circles or squares.

- Z Positive Negative

The Zero Concept - The same positive and a negative together will always give 0.

1 Yellon
1
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(a)

September 12, 2022

What it looks like in the Textbook...

Give the integer represented by each of the following:
Yellow | | yellow Yellow Yellow

C FFEEEEE]

(c)

"X
(e) . - Yellow

IIIIII

+\

]
al

What we can Draw...

74

R) ////

7

(b
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We can model any integer in many ways

HOW ?
Svnaded =+
unsheded > - By including zero pairs

Ex) Model +2 in three ways
1S+ e

e 003

September 12, 2022
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Model each of the following using the given of tiles:

(a) -3 using 5 tiles
em—

P ®
cco 8

(b) -1 using 7 tiles

o

® o
Q 0O

(c) +2 using 6 tiles

o

(d) 13 using 9 tiles

0 6 © o ©
o O

(e) 0 using 8 tiles

@ ©® o o
00090

September 12, 2022

(f) -4 using 6 tiles

OCO0Q0 o
Q

11
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Model each of the following using the given of tiles:

(a) -3 using 5 tiles . - - .
1

(b) -1 using 7 tiles

(c) +2 using 6 tiles

(d) +3 using 9 tiles

1

1

(e) 0 using 8 tiles

1 1 1

(f) -4 using 6 tiles

September 12, 2022

Solution

12
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September 12, 2022

Homework pg. 54 # 1 2(a %) _(_a,b,c), TS,
Quiz g£e<d B
Similar tow ﬁups

Hint #4c use a chart to help answer

Number.gf |Yellow(shaded) Number of red(unShaded) Integer Modelled
> ] &) + |
o 2 I + |
27 3 2 *
y™ y 3 *)

b) Tnfinile cmoant of 2ero Can be
add (so many wex)

Dy depesin

13
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